LL]

Yery aware of this: i
Yaguely aware of thiss 2
Unaware of this: R

figree with the argument:
Disagree with the argument:
In zome ways agres, in

some ways disagrees

Don™t knows

Agree with the concliusion
Gizagrs=e with the conclusi

This argument was T
aasy to understand. i
4 - A £ £
L a~ ot b d i &

X
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The Edinburgh Questionnaires

Section 4
Number 5
Detailed Answer Grid
Column A Column B Column C Column D
Question | Awareness | Agreement with | Agreement with Clarity of Argument

No. Argument Conclusion

1 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
2 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
3 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
4 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
5 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
6 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
7 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
8 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
9 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
10 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
11 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
12 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
13 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
14 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
15 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
16 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
17 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
18 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
19 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
20 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
21 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
22 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
23 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
24 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
25 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.
26 1 2 3 |A D ADDK|A D A/D DK |Easy123456789 10 Diffct.




